
Quiz: Responses to Partner's 1 Suit Opening Bid Done with 0-20 as individual pop test on Nov. 9, 17

Partner opens 1S; Indicate what all your possible responses show

1 + 1 = 2 pts per question

Shape (Detail) Points Score

Response

1 Spade 2 Spades 3 or 4 Spades 6-9 d. pts

3 Spades 4+ Spades 10-12 d. pts

4 Spades 5+ Spades < 9 d. pts Weak freak

2 Clubs or Diam 4+ cards 10+ pts

2 Hearts 5+ hts 10+ pts

1 NT many; often unbalanced w no other bid 6-10  (not 9!!)

2 NT balanced, 2 spades 11-12

3 NT balanced, 2 spades 13-15

3C/D/H good 5+ card suit 17+

Partner opens 1C; Indicate what all responses show

1 Club 1 Diamond 4+ diamonds (may also have 4 major 6+

1 Heart or Spade 4+ cards 6+

1 NT balanced, no 4-card major 6-10

2 D/H/S good 5+ card suit 17+

Total >>>>> /26


